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Chapter 10 Final Review (Part 2)

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Write your answer in standard form.

____ 1. There are  centimeters in one kilometer. How many centimeters are there in 7.6 kilometers?
a. 760,000 cm c. 7,600,000 cm
b. 76,000 cm d. 0.000076 cm

____ 2. A cow can produce up to  liters of methane and other gases in a year. How many liters can a herd of 
100 cows produce in a year?
a. 3,700,000 L c. 370,000,000 L
b. 37,000,000 L d. 3,700 L

Order the numbers from least to greatest.

____ 3. 8.75 10 14 , 4.16 10 13, 7.34 10 14

a. 7.34 10 14, 4.16 10 13, 8.75 10 14 c. 4.16 10 13, 8.75 10 14, 7.34 10 14

b. 8.75 10 14, 7.34 10 14, 4.16 10 13 d. 7.34 10 14, 8.75 10 14, 4.16 10 13

____ 4. , , 7.38 10 22

a. , , 7.38 10 22 c. 7.38 10 22, , 
b. , 7.38 10 22, d. 7.38 10 22, , 

____ 5. What is the length of the bacterium in scientific notation?

a.  mm c.  mm
b.  mm d. 8 10 4 mm

____ 6. Each year, more than 289,000,000 gallons of water are used to make man-made snow at a ski resort. Write 
this number in scientific notation.
a. 0.289 107 gal c.  gal
b.  gal d.  gal
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Multiply. Write your answer in scientific notation.

____ 7.

a. c.
b. d.

____ 8.

a. 3 1015 c. 2 1015

b. 2 1016 d. 2 1056

____ 9.

a. 3.48 10 11 c. 3.48 10 12

b. d. 3.48 10 10

____ 10.

a. c.
b. d.

____ 11.

a. 11 c. 6 1030

b. 11 d. 12

____ 12.

a. c.
b. d.

____ 13.

a. 4.4 10 12 c. 4.4 10 13

b. d. 4.4 10 11

Add or subtract. Write your answer in scientific notation.

____ 14.  – 
a. c.
b. 4.82 10 15 d.
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Divide. Write your answer in scientific notation.

____ 15. ( )  ( )
a. c.
b. d.
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1. A
2. B
3. D
4. C
5. B
6. B
7. C
8. C
9. D

10. B
11. A
12. A
13. D
14. A
15. D


